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I 7E 45 B LEmEEERELE|RemEEELE LehBEGLE (LemBEReE
Hb’ﬁ*ﬂ%@ RMREHNEHRAH [RNREEFPHELSH |RNRENEHARY [RNRERFES
§J\ﬁ' *ﬁ%@ RMREHNFHAH [RNRERPHEAS |RNRENEHARY |RIRERFHE{S
XIE g & & &
KE m 0.1 0.9 1.8 35
SR °c  [30.3 30.7 27.3 27.2
5 FEKE °’c |e44 23.8 25.0 25.0
| ESR °C  |248 23.3 25.4 25.1
lIE FHUE Tovon—SE|lToeon—szoeon—sk(zoeu =S
g S 0~5cm*EiHE [0~5cmkiE [0~5cmkFE [0~5cm*EiH
LS [ b [ b
=X X x1efs Eaf =)
EEA L HL AL L
252
pH 8.0 6.9 7.4 7.3
—|[coD me/g 0.4 0.7 1.0 15
% RZEE % |05 0.8 1.0 1.2
IH (Rt mg/g [<0.1 <0.1 <0.1 <0.1
B[&KE % 17.2 24.6 22.8 227
L ExERM _ |mV_ [180 180 122 127
EE] 1e/gl3.6 8.9 46 7.1
Y (H@en 1e/g]36 39 30 38
% (8% 1 g/g]8000 10000 7300 8800
E(woAhy 1 g/g]230 270 180 210
EREEI=PN ue/gl2 7 6 7
—v)L te/e
NP EN 1 g/g]<0.05 0.06 <0.05 <0.05
i i'_a te/gldo 5.9 5.2 5.3
= aNizA=PN 1 g/g]<0.5 <0.5 <0.5 <0.5
15 [ 1 g/g]<0.5 1.0 1.0 18
8 2K ER 1 g/g1<0.01 <0.01 <0.01 <0.01
FILEILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
TFUOEZTEZEE |1g/s
Z | HEMERER |(ue/s
D FEREER Ue/s
ith | EHREESR He/g
DIESEES ue/sl44 81 75 88
TE (I EREE Ik Ue/s
ENES 1eg/g]62 110 100 130
LERRE me/g
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I 7E 45 B LEmEEERELE|RemEEELE LehBEGLE (LemBEReE
Hb’ﬁ*ﬁ%@ RMREHNEHRAH [RNREEFPHELSH |RNRENEHARY [RNRERFES
§J\ﬁ' *ﬁ%@ RMREHNFHAH [RNRERPHEAS |RNRENEHARY |RIRERFHE{S
XIE g & & &
KE m 3.3 3.0 11.0 25
B °C  |27.1 25.1 23.4 29.2

5 FEKE °c J]os.1 24.5 24.3 24.7

| ESR °C  |25.0 24.3 23.9 25.2
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& T ILk LD T ILk [
=X 2& 26 26 Hief
EEA o [ 55 L
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pH 7.0 7.4 6.9 7.3

—|[coD me/g |18 13 21 1.6

% RZEE % |6.3 45 9.0 1.2

IH (Rt mg/g [<0.1 <0.1 0.1 <0.1

B[&KE % 448 36.4 53.6 24.1
BREExEM  |mV_ |22 141 -143 110
EE] 1 e/g]36 27 46 7.0

Y (H@en 1 eg/g]130 120 170 34

% (8% 1 g/g]22000 15000 27000 7500

E(woAhy 1 g/g]370 280 610 170

B [#o0L 1e/gl23 21 29 6
—v)L te/e
HARE DL 1 eg/g]0.24 0.18 0.32 <0.05

B £ re/gl19 13 25 5.7

= FEZ AL 1 g/g]<0.5 <0.5 <0.5 <0.5

15 [ te/el5.8 40 8.8 1.7

g #KER 1 g/2]0.06 0.05 0.07 0.01
FILEILKEE | ue/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 0.01 <0.01
TFUOEZTEZEE |1g/s

Z | HEMERER |(ue/s

D FEREER Ue/s

ith | EHREESR He/g

DIEEES 1 eg/g]1200 740 1700 150

TE (I EREE Ik Ue/s

ENES 1 g/g]390 280 430 130
LERRE me/g
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I 7E 45 B LEMEEERESE (FehBEERLE |LenmEEEeE (remEEReE
Hb’@ﬁ%@ RHREHPHASH |FRNBEER PSR |RNREHERAS |RNBRER %A |4t
S HTRERS mREER Sk [Fnmsnesten [sumsnenstan [mnEsuentan
XIE g & & &
KE m 40 0.6 15.0 3.8
SUR °C 25.2 25.1 22.5 23.8
5 FEKE °c J]os.1 235 24.8 24.0
] B m °C  |24.9 23.7 23.8 24.0
lIE FHUE IHRN—H(Toeon—SE|zovon—EFTovon—S%
g S 0~5cmEiHE |0~5cmEiF |[0~5cmkiF [0~5cmkiF
LS ib b <)Lk b
=X Xt =56 =) x1ef
EEA L L L L
252
pH 7.2 8.0 7.6 7.2
—|[coD me/g |1.7 0.1 31 15
% RZEE % 1.2 0.5 12.7 1.0
IH (Rt mg/g [<0.1 <0.1 0.3 <0.1
B[&KE % 247 19.7 71.2 229
FRiiEx BN [mv_ [93 218 -255 78
EE] 1e/gl9.1 49 59
Y (H@en ne/gl42 26 280
% (8% 1 g/]9200 6000 27000
E(woAhy 1e/g]190 160 510
B |#&oOlL tg/glé 2 47
—v)L Ue/g
NP EN 1 g/g]<0.05 <0.05 0.28
i f_‘“\ 1e/g]6.0 26 35
= aNizA=PN 1 e/g]<05 <0.5 <0.5
S ye/gl2.1 <0.5 5.2
g #KER 1 g/g]<0.01 <0.01 0.19
FILEILKEE | ue/g]<0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01
TFUOEZTEZEE |1g/s
Z | HEMERER |(ue/s
D FEREER Ue/s
ith | EHREESR He/g
DIEEES 1e/g]100 16 1400
TE (I EREE Ik Ue/s
ENES 1 eg/g]140 39 560
LERRE me/g
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5 =EKE °c  |23.6
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g T HE 0~5cmki
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=X xe
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pH 7.1
—[COD mg/g 10.5
% | RBRE % |09
IH (Rt mg/g [<0.1
B|&KE % 246
FRibExEN  [mv_ 116
i Ue/g
BT Ue/g
% (8 He/g
BH(wohy /g
SR I=FN Ue/s
=7l g/g
;JFEF?A Ue/g
i) Ue/g
ﬁé aNiZi=PN Ue/g
18 it Ug/s
g #KER Ue/g
TILEILKEE [ue/s
PCB ig/e
FTUOE—TEEZEZR [ue/s
Z | B ER |ue/s
NI EES He/g
ith | EHREESR He/g
DEER Ue/g
T8 [ ER RE 1k Ue/s
B (2 Ue/s
LERRE me/g
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X B Eh B Eh
KiE m
SR °c  [13.6 7.8 11.8 11.3

5 =EKE °C

3 i °c  [156 14.9 16.1 15.5
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AN ) Lk 2Lk Lk 2Lk
=Xz 2R 2k 2R 2k
2RI HL L L HL
BE&2
pH 7.8 7.8 7.9 7.7

—|coD mg/g |31.1 36.5 35.1 34.0

% B2 B E % |9.9 9.7 10.7 9.3

IH | a5k mg/g ]0.36 0.30 0.34 0.23

B|&k= % |48.7 43.0 57.0 50.8
FibiETEM  [mV
£ 1 g/gl39 130 74 230

LAk 1 g/gl210 240 290 490

E S 1 g/g|21000 22000 29000 32000

H(w HY 1 g/g]550 320 500 430

ERDI=PN Us/sl4 <4 <4 <4
=7 Ue/g
ARSHL 1 g/210.34 0.36 0.56 0.78

e pie) 1g/gl41.1 63.3 80.9 110

e AN (iZd=FN 1e/gl<2 <2 <2 <2

g (At 1 e/gl3.0 4.6 6.3 7.0

g #aKER 1 g/g]0.28 0.57 1.65 2.31
TFILEILKER |1 e/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 0.01 0.05
FTUOEZTEER|1e/e

7 | BHEBEER |ue/e

D |FEHERREER 1e/s

| EREER 1e/s

D EEHR 1e/s

B e Ue/g

B &% Ue/g
EX L e meg/g
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BIEREES &t At &t At
FRIE R RS () BABEEE () BARESRY | () BAKARS | (k) BEARERSE
AT () BABARE () BARARS | () BAKARE | (k) BARARE
XiE Eh Ei Eh N
KiE m
R °c |11.8 11.3 13.6 7.8

5 =REKE °C

3 iR °c |16.1 15.5 15.6 14.9

15 [BREUE IYRUN=TER| TR N=TR | TR N=T R | T O N—=Dik

g e E] 0~5cmEiE [0~5cmEFH |0~5cmEkiE |0~5cmEiH
AN ) 2Lk Lk 2Lk Lk
=Xz 2k 2R 2k 2R
BER1 L HL L L
BE&2
pH 8 7.7 7.8 7.8

—[coD mg/g |27.4 39.9 20 24.6

% REVEE % |105 13.4 6.5 95

IH |#a1t mg/g ]0.30 0.87 0.52 0.32

B [&KE % |49.7 64.5 35.8 58.2
b= B [mV
R 1eg/g|78 89 22 37

LR 1 g/g|280 290 130 180

% (8% 1 /226000 33000 17000 27000

BH(w Ay 1 e/gl370 480 270 570

(7oL U s/gl44 49 11 44
=7 ue/g
NN 1 g/g]0.61 0.54 0.38 0.61

@ fi.‘ Ue/gl81.7 56.6 25.5 42.6

e A= PN 1g/gl<2 <2 <2 <2

1g [t 3 ue/gl5.1 35 3.8 6.9

g |#87KER 1g/g|2.38 0.33 0.05 0.16
TILEILIKER | 1 e/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
FUOEZTEER|Ue/e

7z | EHEBEER |ug/e

D (THERREER Ue/g

ith [ EHEER He/s

D2EFE He/s

T8 | A RE B He/s

B (&% Ue/g
EXL S mg/g




BEHSI—F 33000026 33000028 33000037 13000100
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FRIE R RS () BABEEE () BARESRY | () BAKARS | (k) BEARERSE
AT () BABARE () BARARS | () BAKARE | (k) BARARE
XiE Eh Ei Eh N
KiE m
R °c |11.8 11.3 13.6 7.8

5 =REKE °C

3 iR °c |16.1 15.5 15.6 14.9

15 [BREUE THRoN—SE|Tovon—SE|Tovon—sE|Tovon—CE

g e E] 0~5cmEiE [0~5cmEFH |0~5cmEkiE |0~5cmEiH
AN ) 2Lk Lk 2Lk Lk
=Xz [RERE [RERE [RERE G oh)
BRI L HL L L
BE&2
pH 7.9 7.9 8 7.9

—[coD mg/g |15.6 17.2 19.8 0.8

% REVEE % |74 10.2 12.4 0.7

H ({8t mg/g 0.20 0.20 0.22 <0.01

EAEYES % |42.8 57.0 64.3 6.3
R ER  mV
R 1 g/g|25 31 38 2.3

% | 1 g/g]120 150 180 30

% (8% 1 /220000 26000 39000 5000

BH(w Ay 1 g/g]360 540 850 150

(7oL 1 g/g]35 51 66 <4
=)L Le/e
HEIHL 1 g/el0.27 0.31 0.42 0.06

@ pis) U g/g]28.1 36.7 454 28

s A= PN 1g/gl<2 <2 <2 <2

1g [t 3 Le/gl31 5.4 3.7 <05

g |#87KER 1 g/gl0.11 0.14 0.11 <0.01
TILEILIKER | 1 e/g]<0.01 <0.01 <0.01 <0.01
PCB 1 g/g]<0.01 <0.01 <0.01 <0.01
FUOEZTEER|Ue/e

7z | EHEBEER |ug/e

D (THERREER Ue/g

ith [ EHEER He/s

D2EFE He/s

T8 | A RE B He/s

B (&% Ue/g
EXL S mg/g
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EiEh =4 BEAFE
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REES EERE
BIEREES &t
e AL (%) BARARE
7 HTREE (%) BABRERIE
Xix Eh
IKiE m
=m °c |11.8

5 =REKE °C

3 iR °c  |16.1

15 [BREUE IHRN—Tik

g e E] 0~5cmk i
VAN ) TILE
18 Hi88
BER1 HL
B&2
pH 7.9

—|COD mg/g 0.7

% RS % 0.7

H a1t mg/g |<0.01

EAEYES % |97
b= B [mV
FiE] Ug/sl4.2

% | ug/gl24

S 1 g/g|5200

E|lw hy ©g/gl190

ERI=PN ug/gl<4
A ue/g
NN 1 g/g]0.08

@ pis) Ueg/gl2.8

s A (iiked= PN 1e/gl<2

15 e 1 g/gl0.9

g #akER 1 g/g]<0.01
TILXILKEE | ue/g]<0.01
PCB u ng <0.01
TUOETREER|ug/g

7z | EHEBEER |ug/e

D (THERREER He/s

ith [ EHEER He/s

DEEFH Me/g

T8 | A RE B He/s

B (2% Ue/g
EXL S mg/g




BAlE#SI—F 36000001 36000002
TR B A imEEr 1 mEEr2
TEFAH 4348 B248 |$Fn34E8H248
TIERS 12:00 11:40
HEEE EERE EERE
I 7E HEES 2l 2l
RIEHE] ) BARRARE () BARER S
PAR ik e () BABARE| () BARAHY
Xz {{Y <3y
KiZE m 16.0 18.0
SR °c |285 28.0

o REIKE °c 279 27.7

;Elj i_l?iﬂall OC 26.2 26.2

15 [REUE TORVN—R|T IR N—D%

B E23E 0~5cmXEi# [0~5cm*E i
518 <ILE 2Lk
48 ERE-E G |RKER-E )
EEN [ aa
2&2 TR KRR [RIEKER
pH 8.0 8.1

—|COD mg/g |10 29

% ERE=E % |6.8 11.0

I [#amit mg/g [0.16 0.97

B|&KkE % |51.8 66.8
FRibiETEL  [mV
il te/gl21 36

Y5 (HE R 1eg/s]84 120

% (8% 1 g/g|17000 16000

E(RUAY 1 g/g]520 510

B|yoLl ug/glil 8.2
—vr)L 1 g/g]20 18
ARSHL 1 5/5]0.26 0.43

e &ZE\ ug/g)20 22

= N i=FN Ue/glk2 <2

15 fitR 1e/gl3.6 3.3

2 #kER 1 g/210.05 0.12
FILXILKEE |ue/e
PCB 1 g/g]<0.01 <0.01
FTUOEZTFRERZR|ug/2]2.6 31

Z | BIEREREER | 1 g/g]0.054 0.14

D |FEHEREER 1 g/gl0.25 0.11

ith| EHREER Ue/g

DIEESES 1 g/2]1000 2300

18 [ ER RE 1 g/gl47 94

EEI: 1 g/g]240 580
LEHREF meg/g




